Let’s determine the qualitative form of the response i(t) that is the current through the inductor.
The thing to note here is since the switch opens at time equals zero, the left side of the circuit essentially plays no role in the circuit after time zero.

What we’re left with then is a series RLC circuit.

So series RLC tells us that the equation for alpha is R over 2*L and putting in the specific values we get 1 with units of inverse seconds.

Omega not would be 1 over the square root of L*C and we always have the same equation for omega not.

We then have 1 radian per second for omega not.

We now want to compare alpha and omega not.

Since they are the same, the response is considered critically damped.
